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Math 1297, Calculus 11
Practice Test 1 answers as of February 21, 2008
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Partial answer: the angle between the vectors should be more than 90°.
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reflect across the line y = z.
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See p. 465, or start with tan(arctan(z)) = z, differentiate, solve for arctan’(z), and

draw a triangle to substitute 22 + 1 for sec?(arctan(z)).

See p. 453

The line of intersection is perpendicular to both normal vectors, so a direction vector
for the line can be obtained by taking the cross product of the two normal vectors.



